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Question 2
(@) speed is magnitude of velocity or
speed is a scalar but acceleration (or velocity) is a vector v/
direction changes continuously v
velocity is changing v Q2 Jun 2007
acceleration is rate of change of velocity v
or max 3
speed is magnitude of velocity or
speed is a scalar but acceleration (or velocity) is a vector v/
force (or acceleration) acts towards centre of circle v/
force (or acceleration) is always perpendicular to velocity or
has no component in direction of velocity v/
force changes direction of velocity but not its magnitude v/
(b) o (=2nf)=2nx (78/60) = 8.17 (rads™") v
2
F ="V l-ma®r \/gives:ﬂ(: F2]: 0.50 =V 4
r mao 0.10x8.17
r=75%x102%mv
Total 7




